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SIXTH SEMESTER B.A.IB Sec. DFGREE EXAM]N&TION MARCH 202@

(CUCBC S——~UG)
BCA
BCA 6B 13——COMPUTER NETWORKS
(2017 Admlssmns)

Part A
| Answer- all queétions
_ - Each questwn carries 1 mark.-\-
Gwe any dlsadvantage of Bus network topology '
How- many layers are there in. OSI model ?
What are the dlﬂ'erent ways of handlmg €rror correctlon ?
What is burst erroy 7 |
* What is logical agidress-?' ) _
What is a bridge ? ,
What is the main function of _transbort layer ?
Name any one -‘A-Ppiication 'layex.' protoeel.
What do you mean.by the term Cipher text ?. -
What is passive attack ?-

Part B

Answerall questions.
Each question carries 2 marks.

Write a brief note on computer network.
Briefly explain Burst error.
Write a short note 611_ data link layer,
' What do you mean by the term Polling ?
What is packetizing ? '
Write a brief note on Network address translation,

o . Maximum : 80 Marks

'.‘(10 x 1= 10 marks)
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_ Dlﬁ'erentlate between TCP and UDP

What is substltutmn c1pher ? . _
| e (8 x 2 =16 marks)
Answer ‘any‘l snxquestmns
Each question carries 4 marks.

Exp}am pé.éket switbhing

- What is Ethemet and why it is used ?

Explam the error detectmg code CRC with an example
What are the responmblhties of data link Iayer ? Explain bneﬂy
What is the range of addresses n the ciasses of mtemet addresses ?
What is address mappmg ? Explam bneﬂy any dynanuc address mapping protocoi, o
Dzﬁ'erent]ate between Connectionless Iteratwe Server and Connectzon Oriented Concurrent Server
Expiam szmple substmmm cipher with exampie '
Bneﬂy_explam Message Authentlcatmn Code with appropriate-ﬁgure.

| . PartD

Answer any three questions.
Each question carrws 10 marks.

‘Explain the fanctmnahtles of aﬂ the layers i m TP/IP protoco?. suite.

Explam CSMA/CD medlum access ‘S;echmque
What is subnet mask ? How it is represented ?
Explain the foilowing : (i) Message transfer agent (ii) Message access agent.

Describe RSA Algomthm and Est:mate the encryption and decryption values for the RSA algorithm
parameter

(8 x 10.= 30 marks)

T ' R - {8x4=24 marks) .




